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Note to the students: - All the Questions are compulsory and carry equal marks.      
	Q1. 
	What is the other name for the plug valve?

	Option A:
	Needle valve

	Option B:
	Slim valve

	Option C:
	Poppet valve

	Option D: 
	Spool valve

	
	

	Q2.
	which of the following valves is better for on/ off control?

	Option A:
	Ball valve

	Option B:
	Butterfly valve

	Option C:
	Plug valve

	Option D:
	Knife valve

	
	

	Q3.
	Which characteristics play a significant role in increasing the current flow continuously with the reduction in resistance until the heat dissipation of thermistor becomes exactly equal to the value of power supply?


	Option A:
	Voltage -Time Characteristics

	Option B:
	Current-Time Characteristics

	Option C:
	Resistance Temperature Characteristics

	Option D:
	Self-Heat Characteristics

	
	

	Q4.
	A one-way valve that lets air into the reservoir of a compressor, but doesn’t let it out, is a

	Option A:
	Checkvalve

	Option B:
	Receivervalve

	Option C:
	Controlvalve

	Option D:
	Three way valve

	
	

	Q5.
	Name the comparator that helps to find unknown input.

	Option A:
	Time marker generator

	Option B:
	Zero crossing detectors

	Option C:
	Phase meter

	Option D: 
	Window detector

	
	

	Q6.
	All the comparisons made by comparator is done using ____________

	Option A:
	1 circuit

	Option B:
	2 circuits

	Option C:
	3 circuits

	Option D: 
	4 circuits

	
	

	Q7. 
	In a comparator, if we get input as A>B then the output will be ____________

	Option A:
	1

	Option B:
	0

	Option C:
	A

	Option D: 
	B

	
	

	Q8. 
	An identify comparator is defined as a digital comparator which has ____________

	Option A:
	Only one output terminal

	Option B:
	Two output terminals

	Option C:
	Three output terminals

	Option D: 
	No output terminal

	
	

	Q9.
	A control system has the following transfer function
F(s) = [(s - 1)(s + 1)]/[s (s - 2)(s + 4)]
The initial value of the corresponding time function is


	Option A:
	1

	Option B:
	1/8

	Option C:
	7/8

	Option D: 
	-1

	
	

	Q10. 
	Identify the problem in this motor control PLC program:
[image: Motor PLC Program]


	Option A:
	Coil

	Option B:
	Start contact

	Option C:
	Seal-in contact

	Option D: 
	Stop contact

	
	

	Q11. 
	PLC can be ___________ in plant to change the sequence of operation.

	Option A:
	only programmed

	Option B:
	only reprogrammed

	Option C:
	programmed and reprogrammed 

	Option D: 
	able to give a set point

	
	

	Q12. 
	An OR function implemented in ladder logic uses:

	Option A:
	Normally-closed contacts in series

	Option B:
	Normally-open contacts in series

	Option C:
	A single normally-closed contact

	Option D:
	Normally-open contacts in parallel

	
	

	Q13.
	A good application for a timed interrupt in a PLC program would be:

	Option A:
	A communications function block

	Option B:
	A PID function block

	Option C:
	A math function block

	Option D: 
	A motor start/stop rung

	
	

	Q14. 
	Ladder logic programming consists primarily of:

	Option A:
	Virtual relay contacts and coils

	Option B:
	Logic gate symbols with connecting lines

	Option C:
	Function blocks with connecting lines

	Option D: 
	Text-based code

	
	

	Q15.
	The control in SCADA is _____________

	Option A:
	Online control

	Option B:
	Direct control

	Option C:
	Supervisory control

	Option D: 
	Automatic control

	
	

	Q16. 
	DCS is a __________________

	Option A:
	Distributed Control System

	Option B:
	Data Control System

	Option C:
	Data Column System

	Option D: 
	Distributed Column System

	
	

	Q17.
	In a measurement, what is the term used to specify the closeness of two or more Measurements?

	Option A:
	Precision

	Option B:
	Accuracy

	Option C:
	Fidelity

	Option D:
	Threshold

	
	

	Q18.
	During a measurement, for a measure value “B”, absolute error is obtained as “A”, what will be the relative error of measurement?

	Option A:
	A/B

	Option B:
	B/A

	Option C:
	(A+1)/B

	Option D: 
	(B+A)/A

	
	

	Q19. 
	_____________ is used to prevent oscillation in moving system.

	Option A:
	Oscillatory system

	Option B:
	Controlling

	Option C:
	Damping system

	Option D: 
	Deflecting

	
	

	Q20.
	What is a pressure sequence valve?

	Option A:
	It is a combination of adjustable pressure relief valve and directional control valve

	Option B:
	It is a combination of nonadjustable pressure relief valve and directional Control valve

	Option C:
	It is a combination of adjustable pressure reducing valve and check valve

	Option D:
	It is a combination of adjustable pressure reducing valve and flow control valve

	
	

	Q21.
	What is the notation used for the sequence of operations mentioned below?
1. Cylinder A undergoes forward stroke
2. Cylinder B undergoes forward stroke
3. Cylinder A undergoes backward stroke
4. Cylinder B undergoes backward stroke


	Option A:
	A– B– A+ B+

	Option B:
	A+ B– A+ B–

	Option C:
	A+ B+ A– B–

	Option D: 
	A+ B–  A+ B–

	
	

	Q22. 
	What is the part, shown in below diagram of 3/2 valve, called?
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	Option A:
	Manually operated valve

	Option B:
	Pilot operated valve

	Option C:
	Pressure electric converter

	Option D: 
	Control valve

	
	

	Q23.
	When a cylinder has inlet and outlet ports at each end, then it is called as __________

	Option A:
	doubleacting

	Option B:
	Air lift pumps

	Option C:
	Reciprocating pumps

	Option D: 
	Centrifugal pumps

	
	

	Q24. 
	Automatic controllers operate on the difference between set point and measurement, which is called:

	Option A:
	Offset

	Option B:
	 Bias

	Option C:
	Error

	Option D: 
	Feedback

	
	

	Q25.
	Which of the following is a hydraulic cylinder based on construction?

	Option A:
	single acting cylinder

	Option B:
	double acting cylinder

	Option C:
	Welded design cylinder

	Option D: 
	Gas cylinder
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